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=1540

4

30. 4
19. 1
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PERMLB NERBF(T) (BRI <=H)

JR=13.05—4. 05412, 38=21. 38
JHR=5.6—(0. 7140.29)=4. 6
JRF = (15X2) X (12X5)=1800
J5k = (44+56) X 35=3500

JREL =28} (99—49)=1400

A =236—136—28=72

10. (87. 5+62. 5) X 4=600(J0)

I 87. 5X4+62. 5X4=600(J0)

11. (1)388. 30—111. 70=276. 60(JT)
(2) 1000 — (388. 30 + 194. 80 +
111. 70) =305. 20(J0)

12.45. 83  46.02
(1)9. 40—8.93=0. 47(/")

(2) (T &[] A M — ) 58 — %2 (19 °F-
YIRERZ /b

13. (1)13.8—3.3=10. 5CK)

(2) (T $i& (] U M — ) B XU e 1
G HAE KU R £ 29
14. (1)69. 13—54. 66=14. 47CK)

(2) W%
15. %
16. /1=30° 2=45"° _3=55°
] 55
17. (D9 (2)6 3 3
18. %
9.4 L § A
20. 1%
21.
Nikks | & BT 75
S (30 F /43| (30~39 | (40~49 |(50 F/ 53
PR | &40 | F/450 | R
N 4 8 8 20

22 . (1) (2174 225+160+ 237+ 264+
258+ 233 + 210 + 151 + 176 +
134-+138) +-12=200. 25 (H})
(2)(235X 12— 243 X 6) <+ 6 =227
(B

HHAFSTIE? (HH111~112 7O

1. (Da+b

(2)a=60 (a+b)+60
(3)¥ a=540 K, b= 720 KH#}, b—
a="720—540=180CK),
(D700 K (5%
2.3200 4.8 20 3.5
3. JAz=100X87+1X87=8787
JF R = (3124188) X 4=2000
JHE = (25X 4) X 33=3300
JHR =700 (25X4)=7
JHE = (1. 29+0. 71+ (3. 7+6. 3)
=12
JRAX=47.56—(7.81+2.19)=37.56
4, (D AN
628—450=178CTK) (2
(3) TR A EUAME—) B H L & )
— 2T E T K
5. CEZEARME—)
6 Bk 5 EK 6 HK
6.110° 40°
7. (1) (EEANME—)

\

(2) (L ANPE—)

8. &
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